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1. (20pts) {a) Find all the truth values of P, () and R such that the statement (P Vv Q) — (B — =Q)

is false.
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{(b) Determine if the statements (—P)
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A (P -+ @) and —(¢} — P) are logically eguivalent or not.




2. (20pts) Determine whether the following are true or false. Explain.
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3. {20pts) Let ¢ and b be integers. Prove that a -+ b is even if and only if o® — b? is even.
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4. (20pts) (a) Determine if the following argument is valid or not. Why ?
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(b} Give a derivation of the following argument.
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5. (20pts) For sets A and B the symmetric difference is defined as AAB = (A— B)U (B — A). Prove
the following
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